
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Negative eksponenter på 10

−1 × 10 =(−1) −1 × 10 =

650 ÷ 10 =(−2) 3 × 10 =(−3)

5 × 10 =(−1) 535, 3 × 10 =(−1)

825, 8 × 10 =(−2) 511, 4 ÷ 10 =(−3)

2 × 10 =(−3) 133, 1 ÷ 10 =(−3)

448, 9 × 10 =(−3) 10 =(−2)

3 × 10 =(−2) 495, 1 ÷ 10 =(−4)

498 ÷ 10 =(−4) 10 =(−1)

10 =(−3) 1 × 10 =2

319, 7 × 10 =(−3) 2 × 10 =
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Negative eksponenter på 10

−1 × 10 = −0.1(−1) −1 × 10 = −10

650 ÷ 10 = 65000(−2) 3 × 10 = 0.003(−3)

5 × 10 = 0.5(−1) 535, 3 × 10 = 53.53(−1)

825, 8 × 10 = 8.258(−2) 511, 4 ÷ 10 = 511400(−3)

2 × 10 = 0.002(−3) 133, 1 ÷ 10 = 133100(−3)

448, 9 × 10 = 0.4489(−3) 10 = 0.01(−2)

3 × 10 = 0.03(−2) 495, 1 ÷ 10 = 4951000(−4)

498 ÷ 10 = 4980000(−4) 10 = 0.1(−1)

10 = 0.001(−3) 1 × 10 = 1002

319, 7 × 10 = 0.3197(−3) 2 × 10 = 20
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